CONCRETING OF TIGUIS - CALVARIO (LILA) - CAMBANSE -ALEGRIA (LOBOC) ROAD, LOBOC, BOHOL

1000-10

CONTRACT AGREEMENT No: 2021-645

THIS AGREEMENT, made this 19th day of November, 2021 between Provincial Engineer's Office of Provincial Government of Bohol (hereinafter called the "Entity") and MUAÑA CONSTRUCTION AND DEV'T CORP. of Gentle Peace Subd., Lawaan II, City of Talisay, Cebu (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute CONCRETING OF TIGUIS - CALVARIO (LILA) - CAMBANSE - ALEGRIA (LOBOC) ROAD, LOBOC, BOHOL (hereinafter called "the Works") and the Entity has accepted the Bid for <u>P 14,938,081.68</u> in Fourteen Million Nine Hundred Thirty Eight Thousand Eighty One Pesos and Sixty Eight Cents Only by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

WHEREAS, Project shall be completed in 120 Calendar Days in accordance with the provisions of the Bid Documents;

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, *viz.*:
 - a. Philippine Bidding Documents (PBDs);
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Ouantities;

Activity No.	Description	Unit	Qty.	Unit Price	Amount
A.1.1(3)	CONSTRUCTION OF FIELD OFFICE FOR THE ENGINEER	LS	1.00	29,480.00	29,480.00
B.4(1)	CONSTRUCTION SURVEY AND STAKING	KM.	0.75	19,947.00	14,960.25
B.5	PROJECT BILLBOARD / SIGNBOARD (8' x 8')	EACH	1.00	11,350.00	11,350.00
B.7(2)	OCCUPATIONAL SAFETY AND HEALTH PROGRAM	LS	1.00	29,337.87	29,337.87
B.9	MOBILIZATION /DEMOBILIZATION	LS	1.00	74,550.00	74,550.00
100(1)	CLEARING & GRUBBING (WITH STRIPPING)	SQ.M	3,759.00	47.00	176,673.00

				0.000	
101(3) b2	REMOVAL OF ACTUAL STRUCTURE/OBSTRUCTION, 0.20 M THICK PCCP (UNREINFORCED)	SQ.M	3,006.80	190.00	571,292.00
101(4)a	REMOVAL OF ACTUAL STRUCTURES/OBSTRUCTION, (610mmФ RCPC)	CU.M	19.00	584.00	11,096.00
102(2)	ROADWAY EXCAVATION (SURPLUS COMMON)	CU.M	4,085.00	313.00	1,278,605.00
103(1)a	STRUCTURE EXCAVATION (COMMON SOIL)	CU.M	75.00	331.00	24,825.00
103(6)a	PIPE CULVERTS AND DRAIN EXCAVATION (COMMON SOIL)	CU.M	269.00	270.00	72,630.00
104(1)a	EMBANKMENT FROM ROADWAY EXCAVATION (COMMON SOIL)	CU.M	107.00	412.00	44,084.00
105(1)a	SUBGRADE PREPARATION (COMMON MATERIAL)	SQ.M	4,387.00	21.00	92,127.00
200(1)	AGGREGATE SUBBASE COURSE (t=0.20m.)	CU.M	1,688.00	815.00	1,375,720.00
311(1)c	PORTLAND CEMENT CONCRETE PAVEMENT (UNREINFORCED) - 0.23m thk, 14 days	SQ.M	3,759.00	1,988.00	7,472,892.00
404(1)a	REINFORCING STEEL GRADE 40, ASTM A-615	KG.	7,319.52	68.00	497,727.36
405(1)a 3	STRUCTURAL CONCRETE, 20.68MPa Class A, 28 days	CU.M	81.60	7,685.00	627,096.00
500(1)a	PIPE CULVERTS 910 mm dia., Class II RCPC	IN.M.	18.00	7,766.00	139,788.00
500(1) a4	PIPE CULVERTS 1070 mm dia., Class II RCPC	IN.M.	16.00	8,154.00	130,464.00
505(2)a	GROUTED RIPRAP, CLASS A (SLOPE PROTECTION)	CU.M	143.00	4,160.00	594,880.00
506(1)	STONE MASONRY (PARAPETS, HEADWALLS, APRONS, & WINGWALLS)	CU.M	201.14	4,110.00	826,685.40
603(3)a 1	METAL GUARDRAIL (METAL BEAM) INCLUDING CONCRETE POST	M.	86.70	1,704.00	147,736.80
603(4)a	METAL BEAM END PIECE, FISH TAIL	EACH	2.00	2,447.00	4,894.00
605(1)a	WARNING SIGNS, (60cm triangle)	EACH	2.00	10,752.00	21,504.00

	TOTAL AS BID AS READ		>>>>	P 14,	938,081.68
SPL	PEO RROW MARKER	EACH	4.00	2,000.00	8,000.00
624(1)a 1	SINGLE ARM POST (6m), WITH STREET LIGHT, LED, 50W	EACH	17.00	18,900.00	321,300.00
612(2)	REFLECTORIZED THERMOPLASTIC PAVEMENT MARKINGS (YELLOW)	SQ.M	24.24	600.00	14,544.00
612(1)	REFLECTORIZED THERMOPLASTIC PAVEMENT MARKINGS (WHITE)	SQ.M	179.85	600.00	107,910.00
605(6)e 2	HAZARD MARKERS (CHEVRON SIGNS), 600mm x 800mm	EACH	18.00	9,429.00	169,722.00
605(1)b 2	WARNING SIGNS, (75cm triangle)	EACH	4.00	11,552.00	46,208.00

Fourteen Million Nine Hundred Thirty Eight Thousand Eighty One Pesos and Sixty Eight Cents Only

- iv. General and Special Conditions of Contract;
- v. Supplemental or Bid Bulletins, if any;
- **b.** Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted; Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;
- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Fourteen Million Nine Hundred Thirty Eight Thousand Eighty One Pesos and Sixty Eight Cents Only or such other sums as may be ascertained, Mr. Ricardo G. Muaña agrees to CONCRETING OF TIGUIS CALVARIO (LILA) CAMBANSE ALEGRIA (LOBOC) ROAD, LOBOC, BOHOL, in accordance with his/her/its Bid.
- 4. The **Provincial Engineer's Office** agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- 6. The Owner hereby covenants to pay advance payment to the Contractor of 15% of the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

advance payment to the Owner by payment.	deducting 15% from his progress
IN WITNESS WHEREOF, I have my notarial seal this day	re hereunto set my hand and affixed of NOV 19 2021, 2021 in
PROVINCIAL GOVERNMENT OF BOHOL BY: ATTY. ARTHUR C. YAP Governor	MUAÑA CONSTRUCTION AND DEV'T CORP. SUPPLY (Contractor) BY: MR. RICANDO G. MUAÑA Authorized Representative
ENGR. CAMILO L. GASATAN End User	Confractor
ACKNOWLEDG	MENT
REPUBLIC OF THE PHILIPPINES) PROVINCE OF Tagbilaran City)) S.S.
Personally appeared before me, the Provincial Government of Bohol with Ricardo G. Muaña with Valid Id No walid until me to be the same persons who executed the of four (4) pages including this page upon written, duly signed by the parties and their thereof, and they acknowledged to me that the same person with the same person who executed the same persons who executed the same person who ex	known to e foregoing instrument consisting which this acknowledgement is witnesses on each and every norm
IN WITNESS WHEREOF, I have	hereunto set my hand and affixed of NOV 19 2021 (2021 in Atty. CARLOS CEASAR C CASTILLO. Forester, M.P.A. NCS No. 2020-12; 12/18/2019 Notary Public Tagbilaran City and Province of Bohol Until December 31, 2021 2/F, Quibir Trade Center 8idg., CPG Ave., Tagb. City Tel. No. (038) 501-0201 PTR O.R. No. A0849056; 12/18/2020 (for CY 2021), Tagb. City MCLE COMPLIANCE NO. VI-0006637, 02/23Page 4 of 4